usl*CurMon:Entry$ usl*CurMon {ErrorFlag==0}

-
Chady 10000}— evilree
= * -
E 47 = Entries 145293
3 - -
3.5 8000 —
_ B Mean 4119
3 -
- [ Std Dev  0.0302
255 6000 —
o | §f3 i
C | % 4000
15| % -
1= % [ -
- t |3 2000—
[].5:— . £ i
n_ ||||||||||||||||||||||II||||||||'.:"";."II.I:‘I3 D_I|IIII|IIII|IIII| |I [ || ] I||||||||
0 ) 40 60 80 100 120 140 160 180 385 39 395 4 405 41 415 42 425 43

run3308 000 maindet usl.png =ntys

usl*CurMon

30000

20000

10000

10000

20000

30000

asym_usl/ppm:pattern_number {ErrorFlag==0}

I L L B B B |mimﬁﬂ rrrrrrrro
R R
ey {1 y 4

L e AN
=
A e A H ey B0
R e A I
SO I
S
FOEN I W
e e A -4
o R
i e Ay
o e K e -
SR
S
e e 1 ey B
3 R
o e T e 2
e e U g
o D
W
R 2
RO
A e 1 e
O 5
o e T e |
RN
e O
T
R T
v e T e I
e
e O

- o
.
- .
= .
- .
-
s

0 50001000015002000(R500(3000@B500C4000G45000

pattern_number

asym_ usl

800

700

600

500

400

300

200

100

Entries

Mean

Std Dev

Underflow

Overflow

36263

-7.714

1130

604

565

-3000

-2000

-1000 0

1000

2000

3000

ppm




dsl*CurMon:Entry$
-
o |
=
=
O
@ 4
-
3~ i
2_
: A a:.
=] [
O 3
—|III|III|III|III|III|III|Illllll:":‘ln
0 J 40 60 80 100 120 140 160 180
Entry$

run3308 000 maindet dsl.png

9000

8000

7000

6000

5000

4000

3000

2000

1000

dsl*CurMon {ErrorFlag==0}

evtlree
Entries 145293
Mean 4.266

Std Dev  0.03217

4 4.1

4.2

4.3

4.4
dsl*CurMon

30000

20000

10000

10000

20000

30000

asym_dsl/ppm:pattern_number {ErrorFlag==0}

# #
-
5 bt
#
e
}{ X

II|IIIIlllllllmimﬁﬂlllllllllllll
T T
O e 1 ey P44
e e U e Bt
=
e 1 ey B
e e 11 ey I
I
st e 17 e 04
o e 1 e I
R O
bl e 11 24
i e AN
O
i e U I
O
e e 1 ey B
3 R
o e 1 e [
b e 1 e
A D
W R
S O
%{:I—Eﬂ—r}f
e e 1 e
O
o O
g e o
A O
s e e I
I
O

#
- e o
- .
= .
- .
-
s
-

0 5000100001500(200025000B0000B50004000(45000
pattern_number

800

700

600

500

400

300

200

100

asym_dsl

Entries 36263

Mean -7.124

Std Dev 1097

Underflow 499

Overflow 471

oo e b b b e g
—d‘nﬂﬂﬂ -2000 -1000 0 1000 2000 3000

ppm



usr*CurMon:Entry$

o
n

usr*CurMon

B

b
n

2.5

1.5

0.5

-

- oL L L L b L Atk o
e >

|9

-
L L L L ks
o e o =

40 60 80 100 120 140 160 180
Entry$

run3308 000 maindet usr.png

x10°

10000

8000

6000

4000

2000

usr*CurMon {ErrorFlag==0}

evilree

Entries 145293

Mean 4.168

Std Dev  0.04041

3.9 4

4.1

4.2

4.3 4.4
usr*CurMon

30000

20000

10000

10000

20000

30000

-
|||||||||||||}f|%_qlllllllllllllll
HIO

asym_usr/ppm:pattern_number {ErrorFlag==0}

o e : o :xi
e
-

0 50001000015002000(R500(3000@B500C4000G45000

pattern_number

asym_usr

900

800

700

600

500

400

300

200

100

Entries 36263

Mean —6.202

Std Dev 1044

Underflow 505

Overflow 470

0o

0 -2000 -1000 O 1000 2000 3000
ppm



o
n

dsr*CurMon
£l
) o N
¥

n
n

1.5

1

0.5

0

dsr*CurMon:Entry$

0
run3308 000 maindet dsr.png

= o QLo L L L e L P
= =i 5

|9

L -

= ot Rt et gt Dt Lo !
= o o =

40 60 80 100 120 140 160 180

Entry$

x10°

10000

8000

6000

4000

2000

dsr*CurMon {ErrorFlag==0}

evtlree
Entries 145293
Mean 4.131

Std Dev  0.03553

] | |
42 425 4.3 4.35
dsr*CurMon

30000

20000

10000

10000

20000

30000

0 5000100001500(200025000B0000B50004000(45000
pattern_number

asym_dsr/ppm:pattern_number {ErrorFlag==0}

||||||||||}{l}{|}${|llllllllllll
HIO

% %%%%%%%?%%%%%%%%%

asym_dsr

1000 Entries

I Mean

: Underflow
EDD__ Overflow
400—
200

| I | L 11 1 | | I | | | I | | I | L 11 1

36263

~7.229

979.9

410

380

yi

0 -2000 -1000 0 1000 2000

3000

ppm




0.085

0.084

0.083 [,
0.082f:2

0.081

0.08

yield usl:pattern_number {ErrorFlag==0}

o T | 1T 1T 1

¥
K
!

H

5000100001 500(2000(2500030000350034000045000
pattern_number

run3308 000 pairTree usl.png

4000

3500

3000

2500

2000

1500

1000

500

yield_usl {ErrorFlag==0}

htemp

Entries 72569

0.08252

Mean

Std Dev  0.0004778

0.082

0.083

0.084  0.085
yield usl

asym_usl/ppm:pattern_number {ErrorFlag==0}

40000
_ b # b
- :x:
30000
- .
- ¥ *
20000 ” 8
B § O
HoOM ot .
1000085 T xTTTrrrrrrx]rdyrroa x| 7]
oFEH BH 8htrEHEHEHEHEHBHEHRHE % HHH%%
10000 Lx gnuﬁigﬁ Hﬁﬁgé';‘ 5 £§“§§
x W R e
20000 8 %
0
8 o o
30000 "
& X
#
40000 X

0 5000100001500(200025000B0000B50004000(45000
pattern_number

7000

6000

5000

4000

3000

2000

1000

asym_usl/ppm {ErrorFlag==0}

: PairTree
E_ Entries 72569
E_ Mean -13.32
;_ i Std Dev 3053
£||||||||||||||||II ||||||1Lnlu||||||||||||l
-400063000820008610000 0 10000200003000040000

asym_usl/ppm




0.087

0.086

yield dsl:pattern_number {ErrorFlag==0}

:'_ .'r’.‘.‘..:l.....l 1 | 1T 1

i

0.084

0.083

g
and
-.'1
P
¢
i
|_.' '
._,.: .
-3
%
r
.
=
T
:
=

50001000015002000(250008300003500040000G45000

run3308 000 pairTree dsl.png

pattern_number

4000

3500

3000

2500

2000

1500

1000

500

yield_dsl {ErrorFlag==0}

L

htemp

Entries

Mean

72569

0.08546

Std Dev  0.0004877

L

|
0

|
0

8

|
3

0.084 0.085 0.086

0.087
yield dsl

40000

30000

20000

10000

asym_dsl/ppm:pattern_number {ErrorFlag==0}

" ®

B P

- P ®

- *

- P :a»:

- P *

— :x

- ®

- s P

= X ®

= X X
:x 3
P P

- P ®

- P P

- X

— *

B :x:

- * p

C P

- P

N s

N ®

- o P

-
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

0 50001000015002000(R500(3000@B500C4000G45000

pattern_number

6000

5000

4000

3000

2000

1000

asym_dsl/ppm {ErrorFlag==0}

PairTree

“ Entries 72569
Mean -11.7

] Std Dev 3852

-40006300062000610000 O

10000200003000040000
asym_dsl/ppm



0.087

0.086;
0.085F

0.084E

0.083

0.082

0.081

0.08

yield usr:pattern_number {ErrorFlag==0}

T T | T T | 1 I'I..l..-'l: I e o

5000100001 500(2000(2500030000350034000045000
pattern_number

run3308 000 pairTree usr.png

5000

4000

3000

2000

1000

¢

yield_usr {ErrorFlag==0}

htemp

Entries 72569

Mean 0.08351

Std Dev 0.0007161

IIIL|I I|IIII|IIII|IIII|II III||

08 0.081 0.082 0.083 0.084 0.085 0.086 0.087
yield usr

40000

30000

20000

10000

10000

20000

30000

40000

asym_usr/ppm:pattern_number {ErrorFlag==0}

- x x x
- T x "
[ #

: bt M MK MK 8 LA HX
- e wooonos eodsdsk
E%% 3 HEH%%%EHHHEHH%%%%EHEHH%H%%%;E
2 S-S :

- 4 -

: « ;
E_ }}: . hd
:IllllIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

0 50001000015002000(R500(3000@B500C4000G45000

pattern_number

10000

8000

6000

4000

2000

0

asym_usr/ppm {ErrorFlag==0}

: N PairTree
B Entries 72569
:_ Mean -8.605
E Std Dev 2534
L b b b bbb b b b
—40006300082000810000 0 10000200003000040000

asym_usr/ppm



0.086

0.085f;
0.084f

0.083F- -

0.082

0.081

0.08

yield dsr:pattern_number {ErrorFlag==0}

A T T T ]

| | T T | I 1T 1T 1 | | PR B PR ok

5000100001 500(2000(2500030000350034000045000
pattern_number

run3308 000 pairTree dsr.png

5000

4000

3000

2000

1000

yield_dsr {ErrorFlag==0}

W

htemp

Entries 72569

Mean 0.08277

Std Dev 0.0006191

30000

20000

10000

10000

20000

30000

asym_dsr/ppm:pattern_number {ErrorFlag==0}

T T T 1 T T T T 1T 1T T B W] T T T T [ T T T T [ T 11
| | T R | | |
=

e

{3 R W

O
B
| R

{11
KN
(T}
(It
AN,
RO XK
=
I
I
KRN

4
)
O}

R e L g L

R
i

W

4

4
4

ey

KA,
RN
AN
(i1

o

|

)

W W

=
U

e
b
e e R

——
(m
I
o
o
o
il

-
{3
{

{ i

| W W
|
{d

i

M I

ey

A A0 30

ey
s ey
=}
A,

S
S |

ORI WRE

}{

bt
e

EiNL,

=}

3
# ——

R WU W
L
iV,

U W

{8

{38

AR
HR

)4

asym_dsr/ppm {ErrorFlag==0}

|
0

|
8

0.081

: " PairTree
10000 B Entries 72569
I Mean -9.568
8000 |
I Std Dev 2199
6000
4000 B
2000
D L1 11 | | I I | | | | 1 | L 11 | L1 1 1 | L1 11 | L 11

0.082

0.083

0.084 0.085 0.086
yield dsr

0 5000100001500(200025000B0000B50004000(45000
pattern_number

-30000-20000-10000 O

10000 20000 30000
asym_dsr/ppm



asym_usl

asym_dsl

asym_usr

asym_dsr

run3308 000

as

| 0.03
0.02

0.01

—0.01
-0.02

-0.03

" s

—16(

.I... —14(
...l —12(

.

.

Al

| 0.03
0.02

0.01

—0.01
—0.02

-0.03

-0.03 -0.02 -0.01 0 001 002 0.03
asym_usl
]
| —18(
|

—16(
—14(
—12(C

L

.

—0.03 -002 -001 0 001 002 003
asym_usl
El"‘_ — —90(
0.03F m"m
N —80(
0.02- —70(
0.01F {60
o
-0.01
-0.02|
-0.03F nll
_ 11 | 11 1 1 | 1 1 1 1 | I | | 1 1 1 | 1 111 | I | I |
—0.03 -0.02 -001 O 001 002 003
asym_usl
Z —80(
- —70(
- —60(
i —I50(
i 40(
_0.01 .I 30(
- O
- I 20(
~0.02-
| O 10(
— [ |

03

asym

0.02 0.03

maindet

mutu

as

| 0.03F m | 18
[ - .
- —16(
0.021-
N .." —14(
0.01
- —12¢
o
—0.01 :— s
-0.02| -
—o.03 " 20¢
[ L1 | L1 1 1 | | I . | | L1 11 | L1 11 | L1 11 | L1 11 I | ,D
003 -0.02 -001 O 0.01 0.02 0.03
asym_dsl
L_ — —20(
| 0.03 — [
| I ] —18(¢
0.02 :— —1gr
B -'... |14
0.01—
- ..-' —{12(
o
—0.01 :—
- ]
-0.02| o
—o.03 "
[ 1 | L1 1 | | | | | I | | | I | | L1 11 | | I | I | ,D
003 -0.02 -001 O 0.01 0.02 0.03
asym_dsl
as
B —
0.03F m"m 7
- —80¢
0.02 g
- ] —70(
B [ |
0.01 — —gnr
0 :_ 50(
3 40(
-0.01
- 300
-0.021 20
—n.na:— nl 100
B 1 1 | | I | | | I | | | I | | | I | | L1 11 | | I | I | _D
003 -0.02 -001 O 0.01 002 0.03
asym_dsl
i —a0c
| am
_ —80¢
0.02—
§ = : _{70¢
0.01 B u —gne
i 50(
.D |
i 400
-0.01 - 30(
- m
i =] 200
—0.02
B | 10(¢
— [ |
__D .ﬂa i 1 1 | | I | | | I | | | I | | | I | | L1 11 | | I | I | _D
—0.03 -0.02 -0.01 g 0.02

al

correlation=C

ASyImn_usr

1.Z.png

| D.ﬂ:}:— [
- N —80c
0.02-
- —{70¢
0.01 :— —lg0r
Z 50(
.D |
N 40(
—0.01
- 30(
B u
-0.02| ..ﬁ 200
-0.03F “u 10
[ | | I | | | I | | | I | | | I | | | I | | | I | | L1 ,D
003 -002 —001 0 001 002 003
asym_usr
asym_usr
B ——
| 0.03— mm —lanc
[ m
- —80¢
0.02
- —70¢
0.01
- g0t
ol 50(
- 400
-0.01
- 30(
002 20(
~0.03] 1
[ | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 ,D
003 -002 —001 0 001 002 003
aASym_usr
awsr o
0.03- 'm
- —14¢
0.02
- ...'. —12¢
001 ....' —10¢
oF 80(
-0.01 60(
§ - 40
-0.02(~ -
- 20(
-0.03F n
B | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | 11 _D
0.03 -002 —001 0 001 002 0.03
asym_usr
- ! = | 14¢
0.02F 4o
0.01 B —10(
B B0c
.D |
B BOC
—0.01—
- - 400
_0.02 0 oo
T ==
— [ |
__D .ﬂa _I | | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | 11 _D
001 0 001 002 0.03
asym_usr

as

B ——
| D.ﬂ:}_— [

- . —80¢
0.02F 70¢
a.m:— cor

- —50(

.D_
—a.m:—
B |
-0.02| ..ﬁ
-0.03F “u
_I L1 | | L1 L1 | | L1 | | | L1 | I L1 L1 | | L1 | ,D
—0.03 -0.02 —0.01 0 .01 002 0.03
asym_dsr
as

- p— —o0¢

| u.na_— [ |

- B —80¢
0.02—

- —{70¢
0.01F —60(

- 50(

.D_
—u.m:—
- —
- n
-0.02| ﬁ
-0.03F “u
_I L1 1 | L1 1 1 | L1 1 1 | L1 1 1 I L1 1 1 | L1 1 1 ,D
—0.03 -0.02 —0.01 0 .01 002 0.03
asym_dsr
as

- 4
0.03F '

- —12¢
0.02F ....l

N —10¢
0.01F

0
-0.01
B |
-0.02(~ =
—n.na:— nl
_I 1 1 | | I | | | I . | | | I . | I L1 1 1 | | I . | _D
—0.03 -0.02 —0.01 0 .01 002 0.03
asym_dsr
ah_ | ]

i | 4
0.02—

B ....' —12¢
0.01~ ..... — 10

ok
_0.01—
- B
_0.02 3
T =
- M
—ﬂ.ﬂ | I . | | | I | | | I . | | | I . | I L1 1 1 | | I . | _D
%803 —o02 —0.01 0 .01 002 0.03
asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

run3308 000

asym_usl

%2 1 ndf 25.39/6 T
p0  —1.182e-06 + 1.086e-06 B
pi 0.9712 £ 0.0010 .
Ve
-ﬂ.mf— =
—u.nzf— - _
—ﬂ.naf— -

asym_ usl

—{].DE -0.02 -0.01 0 001 002 0.03

¥2 | ndf 10.94 /6 -
pd  -2.405e-07 = 1.143e-06 -
p1 0.9238 + 0.0010 - -
0 f— / <
—{J.mf— -
—ﬂ.nzf— e _
—u.naf— -

0.03
0.02

0.01

—-0.01
-0.02

-0.03

0.02

0.01

—0.01

-0.02

asym

&
E
D

-0.03 -0.02 -0.01 0 001 002 0.03

2/ ndf 19.08 / 6

p0  -1.048e-05= 6.199e-06

- p1 —0.2075 £ 0.0062

!

asym_usl

—{].DE -0.02 -0.01 0 0.1 002 0.03

T +2 | ndf

20.14/6

pld  -9.922e-06 = 5.786e-06

- pi —0.09128 = 0.00581

|

0.03

0.02

0.01

-0.01

-0.02

-0.03

asym_usr

- 1=/ ndf 11.88/5

p0  -B.822e-06 = 6.618e-06

=+

- p1 ~0.1987 + 0.0076

I | T T 171 | LI | T 1T I L | T T | T T | T
?
Py

aSyImn_usr

—{].ﬂﬂ -0.02 -0.01 0 0.01 0.02 0.03

| ]
¥2 | ndf 2058/5 =
p0  -1.95e-06 + 1.27e-06 .
p1 1.01+ 0.00 -
o /
—0.01 -
—n.02 -

003 -
_III|IIII|IIII|IIII|IIII|IIII|IIII|II
—0.03 002 —001 0 001 002 003

| ] l
+2 | ndf 17.95/5 ol
p0 _8.744e—07 = 1.101e—06 .
o1 0.9664 + 0.0011 -
ol /
—0.01 .
_p.02 e
—0.03 -
_II|IIII|IIII|IIII|IIII|IIII|IIII|II
—0.03 002 —001 0 001 002 003
as l
: | ]
0.03 - - 12 | ndf 7673/5
3 0  —-1.156e-05+ 6.128e—06
0.02 +'-+ P
- - p1 ~0.269 + 0.007
0.01F |
o ot
~0.01F i
—0.02
—0.03- -
_III|IIII|IIII|IIII|IIII|IIII|IIII|II
—0.03 002 —001 0 001 002 003
- +2 | ndf 8.066/5
0.021—
- ) p0  —1.104e-05+ 5.761e—06
n $ -
001l 1 m- p1 —0.1445 + 0.0062
i }
'D_— 1__,_“"‘"-h|.r-f"HJ-+_
N o
_0.01F -
B -4
_0.02
_II|IIII|IIII|IIII|IIII|IIII|IIII|II

maindet mutual

-0.03 -0.02 -0.01

~ correlation-fit.png

. - %2 | ndf 13.94 /5
0.02- . p0  —7.966e-06 + 6.22%e—06
) _ 1 0. +0.
001l D 0.2447 + 0.0072
o ey
—0.01 -
_p.02 -
—0.03 -
_I | | | I I | | | I | | L1 11 I | I | | | I | | L1 11 | L1 1
003 -002 001 0 001 002 003
asglm_usr
12/ ndf 59.25/5 =
p0  —5.357e-07 + 1.114e—06 B
p1 0.9622 + 0.0011 -
{‘_l:— /
~0.01F T
—0.02 -
-ﬂ.nal
B | L1 11 | | I | | L1 11 I | I | | | I | | | I | | L1 1
003 002 001 0 001 002 003
asglm_usr
2/ ndf 2166/5 -
p0  —1.563e—06 + 1.283e—06 i
-
p1 0.8747 + 0.0014 -
o /
—0.01F T
—0.02— )
_Il_lll|||||||||||||||||||||||||||||||
003 -002 —001 0 001 002 003

I

B | ]
0037 - 72 1 ndf 3.686/6
0.02— + p0  —9.258e-06 £ 6.634e—-06
- _ o1 —0.07757 + 0.00831
0.01F
—a.m:—
- .
_0.02 _t
_0.03 .
L1 L1 I L1 1 | | | | I I | I L1 L1 | | I I | | | | L1 1 |
~0.03 -0.02 —0.01 0 0.01 002 003
as I
0.03% _ —
- - 2/ ndf 3.646 /6
0.02— ) p0  —8.412e-06 + 6.288e—06
N - 1 0. +0.
0o0ib- D 0.1358 = 0.0079
'D __ 1"':I--l'|:|;"4 +++++
- i1
~0.01F
- +
_p.02 _t
—0.03 t-
B L1 1 1 I L1 1 1 | L1 1 1 I L1 1 1 | L1 1 1 | | I | |
~0.03 -0.02 —0.01 0 0.01 002 003
__ASr
2 | ndf 35.04 / 6 "

po 5.522e-07 £ 1.306e-06

o1 1.044 £ 0.001 -
oF /
~0.01F -
—0.02 L
003 -~
I I | I 1 1 1 1 | 1 1 1 1 I I I | | I I | | I I | |
003 -002 001 0 0.01 002 0.03
_QSI
%2 [ ndf 68.28 /6 T

p0 -6.015e-07 £ 9.295e-07

p1 0.9687 + 0.0010 -
o /
_0.01F 7
—0.02— )
_II_IIIIII|||||I|IIII|IIII|I||||
—0.03 -0.02 —0.01 0 0.01 002 003



asym_usl

asym_dsl

asym_usr

asym_dsr

run3308 000

as

| 0.03

0.02

0.01

—0.01

-0.02

-0.03

=
IIIIIII|IIII|IIII|IIII|IIII|IIII|I

-0.03 -0.02 -0.01 0 001 002 0.03
asym_usl

Al

| 0.03

0.02

0.01

—0.01

—-0.02

-0.03

=
II|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.03 -0.02 -0.01 0 0.01 002 0.03
asym_usl

as

0.03

0.02

0.01

—-0.01

-0.02

-0.03

O

-0.03 -0.02 -0.01 0 0.01 0.02 0.03
asym_usl

0.02

0.01

—0.01

-0.02

=
IIIIIIIII|IIII|IIII|IIII|IIII

L1:':3II|IIII|IIII|IIII|IIII|IIII|IIIIII

asym maindet mu

as

| 0.03

0.02

0.01

-0.01

-0.02

-0.03

=
IIIIIII|IIII|IIII|IIII|IIII|IIII|I

-0.03 -0.02 -0.01 0 0.01 002 0.03
asym_dsl

as

| 0.03

0.02

0.01

-0.01

-0.02

-0.03

=
II|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.03 -0.02 -0.01 0 0.01 002 0.03
asym_dsl

as

0.03

0.02

0.01

-0.01

-0.02

-0.03

Un

-0.03 -0.02 -0.01 0 0.01 0.02 0.03
asym_dsl

asym_usr

| 0.03
0.02

0.01

-0.01

-0.02

-0.03

=
IIIIIII|IIII|IIII|IIII|IIII|IIII|

-0.03 -0.02 -0.01 0 0.01 0.02 0.03
asym_usr

asym_usr

0.02

0.01

-0.01

-0.02

-0.03

-0.03 -0.02 -0.01 0 0.01 0.02 0.03
asym_usr

=
II|IIII|IIII|IIII|IIII|IIII|IIII|II

0.03

0.02

0.01

-0.01

-0.02

-0.03

=
II|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.03 -0.02 -0.01 0 0.01 002 0.03
asym_usr

|

=
IIIIIIIII|IIII|IIII|IIII|IIII

| | ;

0.021- 0.021-

{:1.1:113— {:1.1:113— .

-{::.mf— -{::.mf—

-n.nzf— -n.nzf—
_ﬂm:.m....|....|....|....|....|....|. _ﬂm:..|....|....|....|....|....|....|..

-0.03 -0.02 -0.01 0 0.01 002 0.03

tual correlation:scat.png

as

| 0.03

0.02

0.01

-0.01

-0.02

-0.03

=
IIIIIII|IIII|IIII|IIII|IIII|IIII|I

-0.03 -0.02 -0.01 0 0.01 0.02 0.03
asym_dsr

as

| 0.03

0.02

0.01

-0.01

-0.02

-0.03

=
II|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.03 -0.02 -0.01 0 0.01 0.02 0.03
asym_dsr

as

0.03

0.02

0.01

.
S

-0.01

-0.02

-0.03

-0.03 -0.02 -0.01 0 0.01 0.02 0.03
asym_dsr

as

0.02

0.01

-0.01

-0.02

_,DlnIIII|IIII|IIII|IIII|IIII|IIII
—8.1)3 -0.02 -0.01 0 0.01 0.02 0.03

asym_dsr



